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w 468 1,210,362
1 |* =& 4 # (TPE) 2 1,708
9 [#me (KL + % (KCHD) 4 # (TPE) + 3 (KUL) 1 7,807
3 [#re &) % 3 (% 2 )(NRT) 4 # (TPE) + 3 (KUL) 1 10,758
4 | R ANO) 4 IR (KIX) 4 # (TPE) 1 7,623
5 [% s (ANO) 4 R (KIX) 4 # (TPE) % # (HKG) 4 # (TPE) % 54295 (ANC) g ok 2 #7(IND) 1 21,625
6 |% LisANO) 5.4 5 (CRK) 4 # (TPE) 6 9,606
7% i (ANO) L (27 )(NRT) % # (TPE) 4 7,707
8 |% LrisNO) H B iz ) (ICN) 4 # (TPE) % % (HKG) % 2435 (ANC) 1 16,557
9 |% sgmis(ANC) H f iz "IN 4 # (TPE) # 2 (DEL) 1. (CGN) 1 18,179
10 % 2ie@N0 % # (HKG) 4 # (TPE) 5 8,939
11 |% AN % # (HKG) 4 # (TPE) % %455 (ANC) 6 16,515
12 % 24ieN0) % # (HKG) 4 # (TPE) % # (HKG) F15.(CGN) 7 20,780
13 [% % 42ia (ANO) 4 # (TPE) 5.4 5 (CRK) 6 8,616
14 |% w405 (ANC) 4 # (TPE) % # (HKG) 1 8,939
15 [% 4ieANO) 4 # (TPE) % # (HKG) 4 # (TPE) % 7305 (ANC) B & ok 2 #7(IND) 4 21,532
16 % 24isN0) 4 # (TPE) 74 (SIN) 1 10,742
17 |% wdi5 (ANC) 1 5 (PEN) 4 # (TPE) 5 13,840
T EETITGD) % 2455 (ANC) L3 (* 7 )(NRD) B # Ci=)HICN) 4 # (TPE) 1 13,252
19 [ 758006) % 54200 (ANC) @ Ci=)HAICN) 4 # (TPE) 1 12,578
T EEE TGO % 7 (%2 )(NRT) H B iz )(ICN) 4 # (TPE) 3 13,210
91 |2 2 783(CV6) % 3 (%9 )(NRT) 4 # (TPE) 1 12,703
29 | % 788 (CVG) B C=)C0N) % 4 (TPE) 1 12,415
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93 |&# (=2 )(NRT) 4 # (TPE) 34 2,140
o4 | % # (HKG) 4 # (TPE) + B (KIX) 1 2,524
95 | % # (HKG) 4 # (TPE) L (%= )(NRT) 6 2,958
26 | % # (HKG) 4 # (TPE) % % (HKG) 16 2,025
97 | 9FK) H f iz "IN 4 # (TPE) H#E iz ) (ICN) 4575 (LAX) 1 25,503
08 ;jgﬁﬂ(;wljﬁ#\ 4 # (TPE) @ (HAN) FEA (B R 2 15,750
£)(SV0) %) (SV0)
99 |83 #r4 f (SDF) % 550 (ANC) 4 # (TPE) % % (HKG) % %455 (ANC) 7 21,539
30 [+ (TPE) FA G ROPYE) 14 794
31 |+ # (TPE) i GF RO(PYR) 4 # (TPE) 4 1,358
392 |4 # (TPE) < g (KIX) % 3455 (ANC) 3 4B (ORD) % %455 (ANC) < B (KIX) 4 # (TPE) 4 24,372
33 |4 # (TPE) < g (KIX) £ ® B 5L (0AK & =2t (MEN) 7 13,312
2 4 # (TPE) if—%“ria F(FPEEF 6 8,420
7 )(ISL)
35 |4 # (TPE) + 18 (KUL) Ft4e 1 (SIN) = & (GYD) g % #(LUX) 1 14,020
% 4 2 (TPE) + 18 (KUL) #r4e 4 (SIN) H (73 5 5 F g % #(LUX) 1 14,405
¥ )(DWC)

37 |4 # (TPE) + 15 1 (KUL) # % (PEN) % 2 (TPE) 1 6,637
38 |% # (TPE) %+ & (NGO) % 5.5 (ANC) 7 48 (ORD) % R fie (ANO) % # (TPE) 2 24,362
39 |£# (TPE) .+ & (NGO) 2 3705 (CV6) 5 12,339
40 |%& # (TPE) % sode (ANC) I #F ~ (ATL) % sode (ANC) + R (KIX) % # (TPE) 2 26,186
41 |4 # (TPE) % 3455 (ANC) I #HF+ (ATL) % 3455 (ANO) 4 # (TPE) 2 26,062
49 |%# (TPE) % 34755 (ANC) I 4~ (ATL) i 4 #7(DFW) % 24255 (ANC) 4+ # (TPE) 6 26,405
43 |4 # (TPE) % 2455 (ANO) 3 48 (ORD) % 3455 (ANO) + IR (KIX) % 2 (TPE) 2 24,231
44 |4 # (TPE) % 2455 (ANO) 3 48 (ORD) % 3455 (ANO) 4 # (TPE) 12 24,125
45 |%# (TPE) % 53200 (ANC) 7 4% (ORD) B R =)D 4 # (TPE) 1 24,920
46 |%# (TPE) % 53200 (ANC) & HUFD % 5300 (ANC) 4 # (TPE) 8 25,924
47 |4 # (TPE) % 3455 (ANC) § =2+ (MEM) 6 12,583
48 |%# (TPE) % 500 (ANC) Z 3+ #7(DFV) % 500 (ANC) 4 # (TPE) 4 24,814
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2 B * Fadralk| wMTa
g R i3 1 RIS g7 i3 I gk (%) (22)
49 |4 (TPE) % w475 (ANC) #rew (M) % £ 1 (SFO) % # (TPE) 3 28,512
50 |4 # (TPE) + #2(DXB) 2 6,548
o |E7 (TP BAL(f 84 5 5 i W 546 (FRA) 4 # (TPE) 1 20,818
) (DWC)
sy |E7 (TP B34 5 5 J % #F(LUX) B8 5 L 4 7 (TPE) 4 23,204
# ) (DWC) ¥# ) (DWC)
53 |4 # (TPE) I 2 < (ATL) 4 12,965
54 |4 # (TPE) # § (BOWD o 2532 (AMS) # ¥ (BOD 4 # (TPE) 2 23,126
55 |4 # (TPE) A3 (%2 )(NRT) 2 2,180
56 |% 4 (TPE) A 5 (= 7 )(NRT) #1525 (LAXD A5 (%8 )(NRT) 4 # (TPE) 1 21,858
57 |4& # (TPE) % 7 (%9 )(NRT) 4 # (TPE) 5 4,360
58 |4& # (TPE) i# ) (HAN) 4 1,649
59 |4 # (TPE) @ i (HAN) 4 # (TPE) 1 3,316
60 |4 # (TPE) ¥ 4c 8 (ORD) 14 11,986
61 |4& # (TPE) % # (NKG) 4 1,241
62 |% 4 (TPE) & 7 (NKG) 4 # (TPE) 1 1,548
83 |4& # (TPE) 4525 (LAX) 12 10911
g4 |& # (TPE) it 475 (LAX) < B (KIX) 4 # (TPE) 3 21,904
65 |4 # (TPE) it 475 (LAX) 4 # (TPE) 3 21,846
66 |4 # (TPE) it 475 (LAX) % £ @ (SFO) &+ B (NGO) 4 # (TPE) 2 21,910
67 |4& # (TPE) it 475 (LAX) # £ 1 (SFO) 4 # (TPE) 2 21,845
68 |% # (TPE) # &P (SGN) 2 2,221
69 |%# (TPE) # &P (SGN) @ (HAND 4 # (TPE) 2 5,066
70 |%# (TPE) # &P (SGN) 4 # (TPE) 1 4,442
71 |£# (TPE) ¥ & (CKG) 4 1,548
72 % # (TPE) £ & (CKG) 4 # (TPE) 2 3,852
73 % (TPE) R ASSIPIS N\ % 500 (ANC) %157 (LAX) 1 11,346
74 |%# (TPE) R ASSIPIS N\ &4 (LAX) % % (HKG) 4 # (TPE) 2 23,580
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75 |4 # (TPE) % % (HKG) 30 816
76 |4 # (TPE) % # (HKG) % 3455 (ANC) % 3 783 (CVG) 1 13,946
77 |4 # (TPE) % # (HKG) 4 # (TPE) 19 1,556
78 |4+ # (TPE) § & (#E ™5 % )(BKK) 4 2,502
79 |4 # (TPE) § 5 (F ~5 % )(BKK | = & (GYD) b # #(LUX) 3 11,769
%0 4 # (TPE) § s~ F)BKK) [H2(m e 5 LR Jp & E(LUX) 3 12,427
# ) (DWC)
81 |4 # (TPE) § 5 (# =3 #)(BKK) [4 # (TPE) 2 4,974
82 | % # (TPE) F¥(SZX) 14 961
83 |[& # (TPE) E#1(SZX) 4 # (TPE) 3 1,606
84 |% (TPE) 7 4 12 (CGK) + s (KUL) £ # (TPE) 2 8,245
85 |4 (TPE) 7 4v i (CGK) @ i (HAN) £ # (TPE) 1 8,505
86 |% (TPE) T P (XMN) 4 336
87 |% (TPE) T P (XMN) 4 2 (TPE) 4 638
88 |% # (TPE) #r4e s (SIN) 10 3,231
89 |4 # (TPE) #7401 (SIN) = & (GYD) I & F(LUX) 1 13,696
90 [4& # (TPE) #74e 8 (SIN) 5 & £ (INL) 4 # (TPE) 3 6,779
91 |+ # (TPE) 74 (SIN) 4 2 (TPE) 4 6,456
92 |4+ # (TPE) #74e 8 (SIN) fi # (PEN) 4 # (TPE) 1 6,964
93 |4+ # (TPE) #ra af] 3 (0VB) I & (LU 1 9,556
94 |4 # (TPE) % i (NGB) 10 933
95 |4 # (TPE) i (FOC) 5 796
96 |+ # (TPE) A ' (CAN) 9 840
97 |4 # (TPE) R 1 (CAN) 4 # (TPE) 6 1,674
98 |4 # (TPE) #:-41 (CGO) 4 # (TPE) 2 2,532
99 |4 # (TPE) 1 #5 (PEN) 10 3,241
100 |[% # (TPE) 1 5 (PEN) i@ Ik (HAN) 4 # (TPE) 2 6,652
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E13 T 3. 1 £13 1Y #Bhw g7 o8 3 1 (%) (22)
101 |% # (TPE) # 33 (PEN) # & p 5 (SGN) % # (TPE) 1 6,288
102 |%# (TPE) # 55 (PEN) 4 # (TPE) 2 6,268
103 | # F LU = & (GYD) 4 # (TPE) 4 10,249
104 &% #@U0 F (=N[4 (TPE) 1 10,177
105 | # & LU § 5 (F 5% )(BKK) |4 2 (TPE) 1 11,673
106 | # & LU v 2 #4(TBS) = & (GYD) 4 # (TPE) 1 10,260
107 |#&4 L (HNL) < e (KIX) 4 # (TPE) % % (HKG) = % (CDG) § 22 (MEM) 5 26,075
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